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QUESTION 1
When is it necessary to use an SNMP based Enforcement profile to send a VIAN?

A. When we have to assign a vlan to a wired user on a third party wired switch that doesn\\'t support RADIUS return
attributes.

B. When we have to assign a VLAN to a wired user on an Aruba Mobility Access Switch.
C. When we have to assign a VIAN to a wired user on an Aruba Mobility Controller.

D. When we have to assign a VLAN to a wired user on a third party wired switch that doesn\\'t support RADIUS
authentication.

E. When we have to assign a VLAN to a wireless user on an Aruba Mobility Controller.

Correct Answer: B

QUESTION 2

A network administrator configures V5F settings on two Aruba 2930F switches. The switches form two separate VSF
fabrics. What should the administrator check?

A. that the domain ID matches on both switches

B. that each switch is assigned a unique VSF priority

C. that the switch with the lower priority has the lower member ID
D. that LLDP MAD is configured on both members

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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Exhibit:accpéT-534

Which statements accurately describe the status of the Onboarded devices in the configuration tor the network settings
shown? (Select two.)

A. They will connect to Employee_Secure SSID after provisioning.

B. They will connect to Employee_Secure SSID for provisioning their devices.
C. They will use WPA2-PSK with AES when connecting to the SSID.

D. They will connect to secure_emp SSID after provisioning.

E. They will perform 802.1X authentication when connecting to the SSID.

Correct Answer: DE

QUESTION 4

Why is a terminate session enforcement profile used during posture checks with 802.1 x authentication?
A. To send a RADIUS CoA message from the ClearPass server to the client

B. To disconnect the user for 30 seconds when they are in an unhealthy posture state

C. To blacklist the user when they are in an unhealthy posture state

D. To force the user to re-authenticate and run through the service flow again

E. To remediate the client applications and firewall do that updates can be installed

Correct Answer: A

QUESTION 5
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A company requires AOS-Switches at the campus core. The switches:

Will act as the default gateways for several campus VLANs Must provide redundancy for their services and tolerate the
loss of a link or an entire switch Must recover from the failure of one of the switches within a second or less

VRRP and MSTP are proposed to meet these requirements. What is an issue with this proposal?
A. VRRP provides redundancy against lost links but not a failed switch.

B. VRRP provides routing redundancy but not default gateway redundancy.

C. VRRP does not interoperate with MSTP.

D. VRRP takes longer than a second to fail over.

Correct Answer: D

Latest HPEG6-A75 Dumps HPEG-A75 PDF Dumps HPEG6-A75 Practice Test

Latest HPE6-A75 Dumps | HPE6-A75 PDF Dumps | HPE6-A75 Practice Test 4/4


https://www.leads4pass.com/hpe6-a75.html
https://www.leads4pass.com/hpe6-a75.html
https://www.leads4pass.com/hpe6-a75.html
http://www.tcpdf.org
https://www.leads4pass.com/hpe6-a75.html
https://www.leads4pass.com/hpe6-a75.html
https://www.leads4pass.com/hpe6-a75.html

